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‘ Jamia Millia Islamia, New Delhi
Entrance Test: Civil Services Coaching Programme-2020

SECTION-A
Time: Three Hours Section A= One Hour . . - - ... Marks: 120 Marks
Section B = Two Hours {Section A=60}
{Section B =60}
l : Roli No.. L. 220S82¢ *
Instructions to Candidates

Question of 1 mark each. Section B consists of Essay Writing of 60 Marks. Candidates have to write
two essays (one from each ie. Section B (i) and 8 (ji).The total time allocated for both the sections
{A and B) is three Hours. . e

2. Section ‘A" of OMR sheet will be collected after one hour of exam.

3. The candidate may carry this Booklet. " :

4. There is a negative marking in Multiple Choice Questions. One third {1/3") of the marks will be -~ -
deducted for each wrong answer

5. USE OF CALCULATOR IS NOT PERMITTED.

6. USE/POSSESSION OF ELECTRONIC GADGETS LIKE MOBILE PHONE, iPhone, iPad, pager or a
electronic communications ETC. is ‘not permitted.

7. Candidate should check the seri
found missing in the serial

‘gér of questions at the beginning of the test. If any question isa
any other discrepancy, it should be immediately brought to the
notice of the Invigilator. s should be torn out from this question booklet. ’

8. Answers must be marked in the OMR answer sheet which is provided separately. OMR sheet must
be handed over to the invigilator after one Hour. The OMR sheet should not be folded or wrinkled.
The folded or wrinkled OMR/Answer Sheet will not be evaluated. '
Number in the appropriate space (above) and on the OMR Answer Sheet. Any other

or, should be written only in the space provided.
lue Ball Pen only for filling the ovals/circles in OMR Answer Sheet while answering the

tern  to each question marked A, B, C and D. Select one of the answers
fill up the corresponding oval/circle in the OMR Answer Sheet
answers, darken the correct oval/circle completely. 1 the correct
val/circle should be completely filled and darkened as shown

ECT METHOD
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j/éhﬂlnnovmhﬂexnspublw!ndby '
(A) World Bank :

UNDR (United Nations Development Programme)
(C) WIPO (Warld Intellectual Property Organization)
(D) WEF (World Economic Forum)

6) Consider the following.

i I‘omuusetheroleandscopeofmeCmtrﬂ[ySpumudScbma
ii. To increase funds transfer from centre to the states

ili. To promote cooperative federalism -
Which of the following are the objective(s) oftheNIl'l Aayog"
f‘) Only i (B) Only iii
(O)iiand it (D) All of the above 0
B Which of the following pairs isfare correctly matched? 0

i. Kuka Revolt - Chotanagpur Plateau

ii. Kuki Revolt - Meghalaya ] *

Code:

(A}Om%'--.. ol 0
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H) Consider the following statements with reference to regional rural banks:
i. Came 1o birth on the recommendations of MM Narsimhan Committee.

ii. Banks which can only operate in the areas specified by GOI.
iii. They came into operation with the objective of providing credit to the agncullural and rural
regions and were brought into effect in 1975.
Which of the statement(s) given above is/are incorrect?
A. ionly
-B. iionly
C. iiionly
D. None of the above

- 12) Cirque, Arete and Bergschrund are:
«A. landforms of karst topography
B. landforms of glacial origin
C. fluvial landforms

. D. arid landforms \
a3y Consider the following shemical compounds: 6
,. x O

/

ik
Which of the compound(s) given above |slare used in manufactunnggi;,}plosw&s?
A. ionly
V8. iandiionly { "’\V
C. i and iii only \
D. i, ii and iii @

A})”N’ Dash Line’
A. East Pacific Ocean
B. South China Sea

& Strzit of Hormuz

m—-————*"
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8) Which of the following best describes enemy aliens of India?
- A. Citizens of State at war with India :
B. Citizens of India who voluntarily reside in or trade with state at war with Indiz
C. Citizens of a state which is not recognised by India
M. Both (A) and (B)
ﬁ) Consider the following phenomena
i) Thermal Expansion ii)  Glacier Melting ili) Mass Extinction
Which of these is/are causing sea leve] rise?
A 1&ii B. Only ii C.i, i & i Wi &iii
}8)’ Which of the following statements is NOT correct about mineral \?India?
A. Auction provision was introduced in coal mining sector to transparency and augmenting
the income of the Govt.
B. Central Govt. controls the allocation of both major %im
C. Central Gowt. is running Pradhan Mantri Kl_gr_u%__lojm for the development and
welfare of mining region
~ »~D. India has negligible share in rare earth ng in the world
Wnﬂlecontexlofneigl'lboringoountris of Indiac side wing statements?
i. Meghalaya shares border with and Bangiadesh both L
ii. Jammu- Kashmir the only ia that shares border with Autonomous Xinjiang and Tibet
provinces of China ‘
iven above is/are correct? .
ii C. bothi & i y‘ neither ! nor ii
ng statement: about renewable energy?
is completely green and clean form of energy g
o wﬂmm'gﬂdlymmdcbl
: ﬁmwsmummﬁ
ts given above is/are correct? S
[SS
I S J
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24) Consider the following pairs:

a. Indigenously developed i. Tejas
Light Combat Aircraft (LCA)
b. India’s indigenous ii. Lakshya
remote piloted vehicle
(RPV) for surveillance
c. Pilotless assault aircraft. iii.Nishant
Select the correct match(s) from the given below option(s)
a b c

A. 1 il it
T iii ii =
{ ii i iii
. D‘ . ii . . .~ . iii . .~ . _i .

\A5) Consider the following statements:
i. Unsaturated fats are conventionally as ‘healthier’ than saturated fars

i mega-3 acids pol fatty ac ._X
Which among the above is/are correct statement(s)

v Only i B.  Onlyii 0 _
C." iand ii both D. Q

None of the above. _
26) Which among the following methods of heat transfer is maximum asible for heating of the lower
layers of the atmosphere near earth’s surface? . SR
. Radiation form sun \)
B. Radiation from earth N

C. Conduction

D. Convection ' (b,
27¥ Immunodeficiency can result from which of the quﬁ%g.

i.  Malnutrition

ii. Gene mutation Q

ifi. Infection N
Choose the correct option from the
K. iandii ‘ B. iiandii £ . - - - S
C. iandiii D. Aliofthe above

vhich of the following options promoted English education and laid the foundation for the “downward
3oL e TRy 3 S — -
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The much disputed Sharda Act w

A. Minimum age of marriag
‘ % Widow remarriage™
. Worqen’s right to property
D. Continuance of inherjtance rights in case of religious conversion

as concerning which of the following?
e of girls and boys

3 hich among the following is not a Directive

\/g/'l‘o provide free legal aid to the poor.

To provide early child i ' i
b Yy childhood care and education for all children until they complete the age of 6

principle’s of state policy?

C. To uphold and protect the sovereignty,

. unity and integrity of India.
D. To protect and Improve the environme

nt and to safeguard forests and wildlife.

\}3( Which among the following are the{features of the Federalism?

1. Division of powers
I1. Written Constitution
III. Rigidity of the Constitution
IV. Bicameralism
V. Single Citizenship

Choose the correct option:

A. 1, i, iii and iv only

B. 1i,ii,ivand vonly

C. ii,1ii,ivand v only
(}){ All of the above

M he emphasis is clearly on 5G Telecom Services, the characteristics laid and down for 5G are:
Enhanced Mobile Broadband
WX~ Ultra High Reliability
IIi.  Ultra Low Latency

Codes: .
/K. iand ii B. i, ii and iii C. iand iii D. it and iii

India is a signatory of Cartagena Protocol which deals with:
A. Modern Biotechnology (GMO)
B. Invasive Alien Species
C. Biopiracy
JD. All of the above

/36 As per National Biofiuel policy 2018, the target for@iodiesel blending is 5% @Regarding Biofuel

the correct statement(s) is/are:
[ Itis chemically similar to diesel. .
1. Itis produced through trans-esterifi cathn -
II.  It's performance improves with the decline of temperature.

. jven below:- . g
C:oos.e f::mme given BVE - C. ii and iii D. i only
; . iandiii : .

SETA
Residential Coaching Academy
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Consider the following statements about the CAG:
1. The CAG holds office during the pleasure of the President. \—"
: Il The salary, allowances and pension of CAG is“charged expenditure.
. The CAG presents ifs report to the Prime Minister.
IV. The CAG is the custodian of public purse.

Which of the statements are NOT correct:

iand ii.
B. iiandiii
€. iandiii.
D.  iiiandiv.

ﬂ Consider the-followi ng Statement's; S e e T2 AL ) o e : : !
A j!ldge of Supreme Court can be removed by the President on the passing of 2 resolution by z
majority of not less than 2/3 of the total strength of the Houses of the Parliament. ~~

A resolution for the removal of a judge of Supreme Court can be introduced only in the House of
People.

./rﬁ- A judge of Supreme Court can be removed on the grounds of proved misbehavior or incapacity.
Which of the statements are correct?

1L

A. Onlyii

B. Onlyiii
¥ i andiii
D. iiandiii

\,39/Whtch of the following statement is not correct? /
A. A money bill can be introduced only in the lower Hous:
vB. The money bill has to be passed by a special majaj\y,\

C. The Rajya Sabha cannot amend a money bily”
\K Appropriation bill and finance bills are mouei@and are passed accordingly A

¢
40) Which of the following is not mentioned in’ﬂi of the Constitution?
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43) Which one of the following statement is not correct?

A. The share of agriculture in GDP and employment has been declining, since independence
B. Presently, the share of the agricultural sector in GDP is insignificant. o
C. The level of productivity in the agricultural sector is very low. «

\ P Agricultural sector is the largest employer in the economy.

Match the following loans of banks and their default period.

List-I List-IT
a. Non-Performing Assets 1. Up to 90 days
b. Special Mention Accounts  ii. Over 90 days
¢ Substandard assets iii. Less than 12 months
d. Doubtful Assets tv. Over 12 months
Codes
a b c d
A i i iv iii
B i i ivy il o
C ii i i iv
D i ii iii v

(/(5) ‘Consider the following.
1. There will be no need for getting a Vote-on-Account

ii. It will bring in more efficiency, as public expenditure will start from first day of the financial year
1li. As per the Article 112 of the Constitution of India, the Annual Financial Statement must be finally
passed by the Parliament before commencement of every financial year.
iv. It will provide comprehensive revenue and expenditure data for making projections for the forthcoming
year.
Which of these are impacts of preponement of the presentation of Union Budget to 1*' February?
A. iandii
B. iiiand iv
C., i, iiand iii
’ All of the above

Mhich one of the following is not the impact of fall in crude oil prices on the Indian econgmy?

A. Fall in the rate of inflation .

B Reduction in subsidy burden
C. Reduction in current account deficit

D. Increase in foreign investment

l\ﬁhich one of the following pairs is NOT correctly matched?

A. Jerusalem —  Gazastrip v~
_B Catalonia ~————>> Spain
C. Baluchistan —  Pakistan =~
D. Darfur —  South Sudan
SETA
Residential Coaching Academy
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Which one of the following pairs is correct?

=% Crop - Largest producer
A. Cotton - ~ " Punjab
B. Pulses Uttar Pradesh
C. Sugarcane //—7 Maharashtra
\D/§oybean —~  MadhyaPradesh N~
49) Which is most suitable word can be used for Indian climate?
A. Subtropical Monsoon B. Monsoon
vC. Tropical Monsaon D. Tropical .

‘m){hich one of the following statements is NOT correct? -
-Surface ocean currents are mainly driven by Global winds and Earth Rotation.
B. Tropical cyclone is driven by the Energy of latent Heat of condensation

C. Temperate cyclone are developed by meeting of warm air mass and cold air mass.
D. Sea waves are result of gravitational pull of moon and sun and centrifugal force.

Molcar_ﬁc eruptions of circum pacific ring (Ring of fire) are result of:
A. Convergence of plates

B. Divergence of plates B - /%
~ Hot spot activities f
D. Parallel movement of plates AN/
R
‘%V hich of the following Subjects comes under Concm{ lis l%‘
< Public Health and sanitation n\v
ii. Fisheries ~
iii. Adulteration of foodstuffs and other goo Q
\/12" only i . @

B. onlyii : N\
C. only iii "
D. all the above \ :
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) A solid cube of 3 ¢m side, paihted on all its faces, is cut up into small cubes of 1 cm side. How many of
the small cubes will have exactly two painted faces?

2

A1
B. 8
\Z 6
D. 4

O
<56) If A+C= D; C-A= B; A+D=5 & D-A=C, what is Z-X?
T A :
M ..
¢ v B e e o v
‘D. C \\’
y’s income is 20% more than that of B. By how much percent is Bs income is that of A? )
4
A 16%- {““ ® ~
B. 16< — TYEEu- :

I.  Genetic Engineering Approval Commit! W
II.  District level committee.
II1. Review committee on Ge?lsag'\ ification.

. Code:
A. ionly vB./iandi @ C. iii only D. None

59) Choose the correctly matched pair:

Mi
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